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PART I QUESTIONS: Answer all questions in this part by writing the choice of the appropriate answer in the
blank beside the problem. Please show all of your work.
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1. Which of the following values of x is a solution to the equation "f( X-3 > +8 = é 8

2. The sum of three consecutive integers is /O more than fn‘F le the Smalkst integer. ('/d r{‘k, a.n
equation, could be used to find the three integers?

which

3. Writ a +rue Cqmpwnj f(\e_?u.afh‘\n b g
To be a true fnee;uw’f’y

inegualides must be

4. T wo times the sum of a number, n, and ¥ is at 405t =0 Which of the following inequalities properly
models this statement? (4pide +Ais  Stakrmen +

-
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properties justifies what Max wrote?

6.  Which of the following graphs shows the solution set to 3 X - 7 >
G]mT)ln ‘f‘g(e So,LL‘HO"]

open c¢irc le
or

Closed cicele

At
3 H-5-4- 37 3% wh&?

Ciecle  greatel than oa  Lless +Ren

7. The value ¥=3 is a solution to each of the following, except which?

® o anEe o 2{iaels

8. Plato was saving ’0 each week in order to have enough money for a phone that costs 4150, 1f his father
started him off with¥ 30 Which of the following is the minimum number of whole weeks Plato will need to

Weikk an eqlm;\-hn and Selue.

save?
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PART II QUESTIONS: Answer all questions in this part. Please show all of your work.
9. The Vohime of a oo™ given by the formula \/:g e Solve this equation for the height, h in terms of Vand .

10. When a number, X is increased by 4 ) and then the result is mu fhplfuf [:a\ {, the quotient is equal to /&
Write an equation and solve it to find the value of X,

11. Justify your response, is the value X=-4 a solution to the inequality Sx - 3 7 é; :

12. Solve the following equation for x. Show the manipulations that lead to your final answer.

7(x+a) — 3w +Y4 = (x-s)+(x—3)
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13. Algebraically solve the inequality Sx -4t _é o= 9 / 3 x + Q.)

14, Graph the inequality from #13 on the number line.

A

-10 -5 0 5 10

15. Give a property of real numbers or a property of equality to justify each step in the solution of the equation

. shown below.

Hx -8+ Ax +1=]7

Step 1
Uy +dx -3+ =-31
~_ Step2
bx-7=-37
~_ Step3
— bx =-30
Step 4
S X=-5

16. Solve the following multistep equation. — 3% — 4 = =~ 2a




